ﬁt l’lcwtc,C«*»tl»vfj—é

— W1 /R1 duc Floa, Hay &
— Hwio nsk A~ et}
— RIO Cameefed

Flnal  esgu schedil




kofl‘j/CaufowL FA Ao (/LDL — Wu’%’/{k Cases -

(A) Shp_ B stk

[, ~lahyve MoJ{M [ »no N_[d;(‘\,( ,14574'::'4
3 13 0‘0}05525 M of on (Majﬂ;‘}"‘ﬁ(ﬁ';)
(\/ D d)
\

@ Tr'zmsvl;on
Y no r\dﬂ%\/q Mo;kq/\
L. ciVeal Fichjon force
t:.';/uf\l




SO’M}{M lopc&a’wr‘?— (kmowm Cak)
— 002-'{7—/1"‘:'/!1 CaSe (5]')’(_14) i‘vﬂwf,?;'om, Sl"f IUH‘/ Sl»f nfﬂLj
— ]/”gD, %um(lsw (Jﬂ-ﬂwl,'.,j on CAIL/ S olus

- &
A5
- T{‘D 5]'\"0\1L > ass Ume_ W= D/ ad= 0/ N, F M;«aﬂ
/"\-p awv\
50'\/( 'JG/‘ VMDJ\'OV\ / N, - 6_)(
& piN Condm -
check |F| & /4/ l et

N T/‘D S{;f /C:P‘J—: assume 'F:/AA) 4~ ‘H'\l\n‘gl‘-l—
$g{vg 1%“‘ IMO/"DA 07[‘ cortat lﬂalﬂ‘]—

[\K ussuncad ond N, F
fora. check VgD o azo  and
jah?"hb"‘ ]—é\ oppose s mahon (1’/‘ 2 a’})

— Tf“p s[j‘o fi9H': A5 me F=/4N to He [ FfF l\\aﬁ,?ul_

ﬂ\w\ Sam & as 5/;{ IC‘Br,



#9-15. Rolling disk kinetics (rollingDiskKinetics)

coefficient of friction between the disk and the ground is 4 = 0.25.
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What is the angular acceleration a of the disk?

a= k rad/s?

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force
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D = —447 + 34j N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The
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#9-15. Rolling disk kinetics (rollingDiskKinetics)

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force

D= —44i + 34j N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The
coefficient of friction between the disk and the ground is 4 = 0.25.
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What is the angular acceleration a of the disk?
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#9-15. Rolling disk kinetics (rollingDiskKinetics)

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force
D = —447 + 347 N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The

coefficient of friction between the disk and the ground is 4 = 0.25.
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What is the angular acceleration a of the disk?

a= k rad/s?
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#9-15. Rolling disk kinetics (rollingDiskKinetics)

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force

D = —447 + 347 N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The
coefficient of friction between the disk and the ground is 4 = 0.25.
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#9-15. Rolling disk kinetics (rollingDiskKinetics)

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force

D= —44i + 347 N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The
coefficient of friction between the disk and the ground is y = 0.25.
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What is the angular acceleration a of the disk?
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#9-15. Rolling disk kinetics (rollingDiskKinetics)

A uniform rigid disk of mass m = 7 kg and radius r = 4 m starts at rest on a flat ground as shown. Force

D = —447 + 347 N acts at point P on the top edge, and gravity g = 9.8 m/s? acts vertically. The
coefficient of friction between the disk and the ground is 4 = 0.25.
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What is the angular acceleration a of the disk?

a= k rad/s?
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